(e PN = e
|| ﬁ%ﬁ multiplikasjon av breker (blandet brok)

StudentName: ExamDate: ExamScore:
lgxl— 21)(1—
5 8 2 5
4 4 3 3
— X — = — X — =
9 6 7 4
5 2 2 2
— X — = —_ X - =
6 8 8 8
5 5 3 1
— X — = —_ X - =
6 7 5 5
2 2 4 1
— X — = _Xl_:
5 6 9 2
12)(12_ 6><3—
375 76
11)(21— %xl—
2 3 5 2
W13 3.2
3 6 4 5
2 3 2 3
— X — = — X — =
7 8 6 9
ﬂxﬂ— lgxll—
7 5 3 3
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ﬁ] multiplikasjon av broker (blandet brok)
StudentName: ExamDate: ExamScore:
2 1 7 1 1 1
- % —-=— 2— X = = —
5 8 40 2 5 2
4 4 8 3 3 9
_— X - = — — X - = —
9 6 27 7 4 28
5 2 5 2 2 1
_— X - = — _ X - = —
6 8 24 8 8 16
5 5 25 3 1 3
- X - = — - X - = —
6 7 42 5 5 25
2 2 2 4 1 2
— X — = — _xl_:_
5 6 15 9 2 3
2 2 7 1 6 3 3
I3x15=3723 7%677
1 1 7 1 2 1 1
1522373733 5275
L. 3_7_,1 3.2_3
3 6 6 6 4 5 10
2 3 3 2 3 1
- X - = — — X — = —
7 8 28 6 9 9
4 4 16 2 1 20 2
X == — 1Zx1=="="=2=2
7 5 35 3 3 9 9
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